
Intervention Units: Linear Functions C  4.2  1 
 

Slope-Intercept vs. Standard Form Part 2 
 
Part 1: Identify which graph best represents each equation by matching the 
number to the letter. 

1)     y = 2x − 2  
 
 
 
slope = _____  y-intercept = (     ,     ) 
 
name another point on this line (     ,     ) 

A) 
 
 
 
 
 
 
 
 

2)     2x + y = −2  
 
 
 
x-intercept = (     ,     )  
y-intercept = (     ,     ) 
name another point on this line (     ,     ) 

B) 
 
 
 
 
 
 
 

3)     y = 2x + 2  
 
 
 
slope = _____  y-intercept = (     ,     ) 
 
name another point on this line (     ,     ) 

C) 
 
 
 
 
 
 
 

4)     2x + y = 2  
 
 
 
x-intercept = (     ,     )  
y-intercept = (     ,     ) 
name another point on this line (     ,     ) 

D) 
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